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1 次の極限値を求めよ．

(1) lim
x→−1

x+ 1

x2 + 4x+ 3

lim
x→−3

x+ 1

x2 + 4x+ 3
= lim

x→−1

x+ 1

(x+ 1)(x+ 3)

= lim
x→−1

1

x+ 3

=
1

−1 + 3

=
1

2
【1点】

(2) lim
x→2

√
x+ 1−

√
3

x− 2

lim
x→2

√
x+ 1−

√
3

x− 2
= lim

x→2

(
√
x+ 1−

√
3)(

√
x+ 1 +

√
3)

(x− 2)(
√
x+ 1 +

√
3)

= lim
x→2

(x+ 1)− 3

(x− 2)(
√
x+ 1 +

√
3)

= lim
x→2

x− 2

(x− 2)(
√
x+ 1 +

√
3)

= lim
x→2

1√
x+ 1 +

√
3

=
1

√
2 + 1 +

√
3
=

1

2
√
3
【1点】

(3) lim
x→0

1

x

(
1

2
− 1

x+ 2

)

lim
x→0

1

x

(
1

2
− 1

x+ 2

)
= lim

x→0

1

x
× (x+ 2)− 2

2(x+ 2)

= lim
x→0

1

x
× x

2(x+ 2)

= lim
x→0

1

2(x+ 2)

=
1

2(0 + 2)

=
1

4
【1点】

2 導関数の定義にしたがって，関数 y =
√
x を微分せよ．
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3 次の関数を微分せよ．

(1) y = 3x4 − 2x3 + 5x+ 3

y′ = 12x3 − 6x2 + 5 【1点】

(2) y = (3− 2x)4

y′ = 4(3− 2x)4−1 × (−2) = −8(3− 2x)3 【1点】



 

(3) y = (x2 + 1)
√
2x− 1

y′ =2x
√
2x− 1 + (x2 + 1)× 1

2
(2x− 1)−

1
2 × 2

=2x
√
2x− 1 +

x2 + 1√
2x− 1

=
2x(2x− 1) + x2 + 1√

2x− 1

=
5x2 − 2x+ 1√

2x− 1
【1点】

(4) y =
x+ 7

3− x

y′ =
(3− x)− (x+ 7)× (−1)

(3− x)2
=

10

(3− x)2
【1点】

(5) y = sin(4− 3x)

y′ = cos(4− 3x)× (4− 3x)′ = −3 cos(4− 3x)【1点】

(6) y = x3 cosx

y′ = 3x2 cosx− x3 sinx 【1点】

(7) y = sin2
(
2x− 1

3x+ 1

)

f(t) = t2，g(x) = sin

(
2x− 1

3x+ 1

)
とおくと，y = f ◦ g(x)で

ある．f ′(t) = 2t より，

y′ =f ′(g(x))× g′(x)

=2g(x)× g′(x)

=2 sin

(
2x− 1

3x+ 1

)
× g′(x)

また，F (t) = sin t，G(x) =
2x− 1

3x+ 1
とおくと，g(x) = F ◦

G(x)である．F ′(t) = cos t より，

g′(x) =F ′(G(x))×G′(x)

= cos(G(x))×G′(x)

= cos

(
2x− 1

3x+ 1

)
×
(
2x− 1

3x+ 1

)′

=cos

(
2x− 1

3x+ 1

)
× (2x− 1)′ · (3x+ 1)− (2x− 1) · (3x+ 1)′

(3x+ 1)2

=cos

(
2x− 1

3x+ 1

)
× 5

(3x+ 1)2

以上のことから，

y′ =
10

(3x+ 1)2
sin

(
2x− 1

3x+ 1

)
cos

(
2x− 1

3x+ 1

)
. 【1点】


